R 3 }u»l-&}anlai«.—-}wl R I W
| [ T 1 || |
=
—1

24 | BATTERY PACK | | 6. 0AR

23 [TERMINAL ASSY] | B10- 18000
22 |[CONTROLLER WOLDER| | PC DMIBBL
21 | SWITCH AS5°Y [ | 101 BBL
20 [MAIN PCB ASS"Y[ |1 DM I BBL
19 [+FH TAP SCREW) 4 MZ.5 X & 1D18BL
18 | THERMAL PAD | 1 I1WI8BL-H
|7 [HALL PCB A3S°Y| 1 |WIBBL-H
& HER SCREW 2 M3 ¥ 35 IWI8BL -H
15 | HOLDER.REAR | BLDCIE : | WIBBL -H
14 | HOLDER.FRONT | 1 WLDCH IWI8BL-H
13 |STATOR ASS'Y | 1 |WIBBL-H
12| FaN assy ] I1WI8BL-H
11 [ roToR ass‘Y | 1 IWI8BL -H
10 BTICRERLBEAR.LOG0| 1 | A=Y |WI8BL -H
9 [NAMEFLATE(AE)| 1 | REw |WIBBL-H
B |RUBBER.DAMPERI 4 BiLiCon IWIBBEL -H




IW18BL-H

LEVEL [NO. PART NO. [PART NMAE SPEC. UNIT |LPK |Q'TY
1 01 2110739 |[SZ]JHOUSING (R, 2! A EAFE, 43 ,BROWN),IW18|BROWN FA  [208 |1
1 02 2110740 |[SZ]HOUSING (L, 21 M EAFE, =% ,BROWN),IW18§BROWN FA  [208 |1
1 03 3109217 [IMPACT WRENCH GEARBOX ASSY,IW18BL-H [tA%{IW18BL-H EA (200 |1
1 04 2103068 |REVERSE KNOB DD-1802LP-2C [#R[a)#F] P&t PC EA  |201 |1
1 05 2400181 |PAN HD(+) TAP SCREW, BR36BL [f3L+FEEHM4*16L EA  [208 |9
1 06 2405086 |+PAN HD TAP SCREW PG-605 [#2££] M5*35 2%, 8 EA  [208 |4
1 07 2075138 |RUBBER DAMPER, DIW-1801L [#%H<BH fE ] NBR EA |208 |1
1 08 2070178 |RUBBER DAMPER(MOTOR),IW18BL-H [#:fiFE FE £ SILICON EA |208 |4
1 09 7700807 |[SZINAME PLATE(X|&,5==,BROWN),IW18BL-H [§IW18BL-H A [208 |1
1 10 7736637 |[SZIREAR LOGO(X|&,5==,BROWN), IW18BL-H [/§IW18BL-H A [208 |1
1 11 3006027 |ROTOR ASSY,IW18BL-H [3&FH %] IW18BL-H EA [208 |1
1 12 2030366 |FAN ASSY,IW18BL-H [XESZE 4] N EA  |208 |1
1 13 3010079 |S/T ASSY,IW18BL-H [FEF2E1F] IW18BL-H EA  [208 |1
2 15/14 2110578 |CELL HOLDER,IW18LA [EB /R fRIFEE] PA6+GF33, Bf EA  [208 |1




1 16 2400247 [HEX SOC HD MC SCREW(M3*35,COATED) IW18BL{M3*35,COATED EA  |208 |2
1 17 2007045 |HALL PCB ASSY, IW18BL-H [ /R H 4] ah[EHE O EA  |201 |1
1 18 2070177 |THERMAL PAD,IW18BL-H [£45 ] - EA  [208 |1
1 19 2416805 [FLAT HD TAP SCREW(M2.5x10) IW18BL-H [#%2£] |M2.5x10 EA  |208 |4
1 20,21,22,2|2007046 |main pcb assy [ #HR 22 14F] JF2% orange EA [200 |1
1 24 L000125 [BATTERY PACK ASSY DG18BL (KEM) 18V,5.0Ah {18V,5.0Ah, CHECK (KEM) EA  |248 |2

Y100481

Complete Motor Ass’y

Nrs 11 t/m 23










